
SAP ABAP table TNREL {IS-H: Insurance Provider - Relationships}

TNREL

MANDT [CLNT (3)]

GPART1 [CHAR (10)]

RGPART2 [CHAR (3)]

EINRI [CHAR (4)]

FALAR [CHAR (1)]

BEWTY [CHAR (1)]

BWART [CHAR (2)]

ABART [CHAR (2)]

GEBIE [CHAR (9)]

GPART2 [CHAR (10)]

NGPA

MANDT [CLNT (3)]

GPART [CHAR (10)]

 TNREL-GPART1 = NGPA-GPART 
{0,1}

1
 TNREL-GPART2 = NGPA-GPART {0,1}

1

T000

MANDT [CLNT (3)] TNREL-MANDT = T000-MANDT 
0..N

1
TN01

MANDT [CLNT (3)]

EINRI [CHAR (4)]

 TNREL-EINRI = TN01-EINRI 

0..N

1

TN14B

MANDT [CLNT (3)]

EINRI [CHAR (4)]

BEWTY [CHAR (1)]

BWART [CHAR (2)]

 TNREL-BWART = TN14B-BWART 

0..N

1

TN21

MANDT [CLNT (3)]

EINRI [CHAR (4)]

ABART [CHAR (2)]

 TNREL-ABART = TN21-ABART 

0..N

1


